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EAY Yl 18 8 7 R 2 1 — {8 2 B (R MTAB 55 AL 8 Magic
Sum > FEFBEEEL > BE%ES S A S=4n+2) » HIFFEEHEAH]
HET B ERIERZEN L] n A E P EIRER n BEEEE
[#i(Pure Order-n Magic Stars) ; MHE » FEZEL] n AR
[EEZ I n FEJEE 2 i (Impure Order-n Magic Stars) B8R
EHIA] -
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RSO AT A B B R R - W DUFEH B &
BFEEE = [ (Order-odd Magic Stars) » (& 16)fT7~ 5 A REEEEEE
[ (Order-even Magic Stars)@ 1 5 A Wi 2hamEH

LIEH S A8 > B e n S RGO A ZH B

TR -
2IRFLHN et m {18 B 2 () e g B R R e P 175 JE A8 R E SR
H o 2ndE 1R e

nS N .
o ] £ vy e

q [
» @

Bty L FARE B R (S =30) PRI/ A2 (S =26)
(& 16) (& 17)

(5 ~ SRR/ P B R R

=)

ARG PR T PR R PTG AN 7AE > H(E 17) r] RIS B
JING IRZEHY n P JEE 5L i (Pure Order-n Magic Stars) B RIS 7SBSHE &2
[ii(Pure Order-6 Magic Stars) » [ | #3CREEES T/ AR A JE B~ A8
AL SR A LA LB A T IENE 7 RS /N R
A% DR ? BAMEAR A — D PR |

JE& S LAt R R I fe R R

[ 2K ]) Sif M — MBI S ESR R T ~ 1 R i
RIS s MR R o DR (F08)75 ) B (FOmEG ] - A
U A E BB SR (Magic Square of Primes) ~ Z~ 508 /7R (Magic
Square of Squares % Bimagic Magic Square) - FEJ& /7 (Multiplication
Magic Squares) ~ EEE /5 (Double Magic Squares) * H e {7 {Eio L
T AR S PE 2

19



il ~ ASam

BERRHEPAM B R 2R S (/N R R BE - BB B i Fe
CAR el - HE T RE L T PIP IR R R R R o T R R AR
W 2 TRl ) — 5] AR RE A AR S K R I SRR Ay
IR — R AR -

% - BELR

— BEER
BTGk - d B R B ERAE R =2 EEA(113~114 H) © FEf
RS 92 FERTIN
QEHEENH - N R R BRI M 4-2 - BET A5 93 BRI -
3EGHIEAME S - #h SR PR BERAE M 1-1 - f 5/ 93 ERTI -
4 PFRAE - EN R PR RS - R 93 ZRTIR -
S HEACRH(R 84) < 30.BET 2 IE - SN B BER AR —#8(82~84 H) - =015 ¢
JUFEHAIR -
=~ B
LARYEAR(ES 88) LEEMEE [ R K ) K 94 4F 6 JH A : http://www.shes hee.
edu.tw/~oddest/
2.Harvey D. Heinz(1998). Magic Stars. [ Magic Squares, Magic Stars & Other Patterns
] . Retrieved June,2005, from : http://www.geocities.com/~harveyh/magicstar.htm
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